[Auil] EEEHEBE(RMBE)EH wosemaomae-

Car type (1T m =
BASIC 7,000 =
VAN 10,600 i
BASIC 8,000 5,000 -
VAN 11,000 8,000 E
BASIC 15,000 8,000 5,000 SI5EE
VAN 18,000 11,000 8,000
BASIC 11,500 7,000 5,000 8,000 HEAEE
VAN 14,500 10,000 8,000 11,000
BASIC 13,000 8,000 8,000 15,000 7,000 K5YEE
VAN 16,000 11,000 11,000 18,000 10,000
BASIC 22,000 18,500 15,000 22,000 8,000 8,000 = R
VAN 25,000 21,500 18,000 25,000 11,000 11,000
BASIC 25,500 15,000 15,000 18,500 8,000 15,000 7,000 s
VAN 28,500 18,000 18,000 21,500 11,000 18,000 10,000

/ [NOTE] \

1. WEE—thE(ER)RBE(LHR)/FEENGE, IIASEEEEE(EiEH)ER.
2. HREESR)EFHMEEREFHANRRNG, MREE(JEEHE(RINEE)ERH,
[Example]
*INABASIC typeER!, BiEEREIZETRE = IREZILFRIERENGE | THEEH
k *UNAVAN typeEEH!, HEEMAEGEIRREEE = AEHISIENE | F2{18,00081 /




